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l. Answer the following as directed : lxl0=10
ffifisnr{ffitr{ql?t-e-{ftfl:
{a/ Truth or falsity is a properry of

term/proposition/argument.
( Choose the conect answer )

cslsl sl qqslgl t<q fi/<F/{k {{ r

( lsq ffir{rQ$fr-{ )

(b) An .ugument has one premise/two
premises/no fixed number of premises.

( Choose the correct answer )
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,qbr lk ch qKR qq qc+/ttr qr{R {o;r
qrm/q{R qFK erc{l ftfta xqn ngrm r

(sqWt{Rbfrs<T )

(c/ Validity of an argument is concerned with
the form of an argument/content of an

argument/both form and content of the

argument.

( Choose the correct answer I

1k klvt lfu{ qrnq qqs/lfu< R{T{sr
qqs/TRF qFFR qFF ftiTcq Gq.{ eas
qfgs I

( sq Wr {Rbfreo )

State one point of difference between
deductive and inductive inference.

fiom+ qr+ qrrFn qflFK rtq-{ 6t rfql
Sces r-{ r

Give an example of particular negative
proposition.

eh ft-cr{ qeft Tory< bnr<q fur r

The figure of a syllogism is determined by
the position of the _ term.

( Fill in the blank )

'rn q<&k \e'Ftv iniR nc|n fi-6{

(d)

(e)

(f)

( vff|R'5.rer I

( Continued. )
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fCl BAROCO is a valid syUogism/immediate
inference/distributed term.

( Choose the correct answer )

BAROCO efi b{q rrT/q{Mq qsT{/<jtg
tfh I

( sn B-€lztr<rRbfrscl )

fr/ State any one general rule of a categorical
syllogism.

qA ft{.,tq Trsr ft cn{ crbr ncRq frfi
Brsc Ff r

(i) What do the ideograms stand for?

qR'nEl'|iFft{frffi+zsr

0 Under what condition, an equivalent
ftrnction becomes true?

fr u6s.qh wf{ TEFI wrq{?

2. Answer briefly : 2x5=10
D${B-€-ifr{T:

{a,f Define argument with example.

Grnrnrqlklwfilr r
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/b/ Reduce the following sentences into

proper logical Propositions and mark them

as A, E, I, O:
w{ {fsr"?tl qlI{PIrs <Frq d'lt{Ft iFtl qFt

A, E, I, o Sr+n Sfu v[ :

(t All students are not equallY

inte igent.

cfrs{RsnftcrrcqlRffil<{ r

(l/ Virtuous alone are happy.

cq{-{ {ff{T{lfrIft |

(c/ State any two rules of conversion.

rri6iq R cor* $r fiTc Grnr m r

(d/ Write two utilities of the uses of symbols.

cfts qr+{-{q $l C'trltflvt fi'{ r

fel Define logical constants with examples.

Ere{qrqdr qREt+{ ciq ftfll

3. Answer the following questions (any fourl : 5x4-_20

ffiR-s flzng<t-q{ftvr (fr mriqrffi1) ,

{a/ Explain the relation between the validitv
or invalidity of an argument and truth or
falsehood of its premises and conclusion.

1fu< h<vt {r qf<r.o-K qqs qntFrm, qFF
ftals{ Tsrq <l ErrqvR r-16 rrrFm iFin I
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b) Wnte a short Dote on squale of opposition

of proposition.

rE{ RrrKr r'(rTq *'r{ qbt q 6mr fivr r

{c/ Dstinguish between figure and mood of
syllogism.

{m I\"r{ qT lRh arqs'fi{Tr fifi qr r

fdl What is simple proposition according to
modern classification of proposition?

Define each of the different forms of simple
proposition with example. I +4=5

. qFK q{ft-{ dnR-"-rsq qflR T{q {F Frs
6{rcrT ? bff<(.lK ?{cg RGc 9FFFK TFI
<FCT{{ elcsFFrll I\BIfrfll

{e) Symbolize the following propositions : lx5=5

Ess ftfl tDdrT{ cq-fis{ d'rs:i6qKT :

It It is not that Hari is honest.

cf{ch qrqr$ sRRcq r

/iil Either Rakesh is intelligent or he is

honest.

c{qrf-rlkfsqq{l F\drq I

(rd ff you read attentively, then you will

succeed in the examination.

ffi VR qzRarcqn qn cscrtc "jftFrs
TqE akl I
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(iv) The weather is not good but Rita

goes for a walk.

is{sf{{{{fuQsR1ft<tavl r

(v/ It is false that the field is muddy and

wet.

,ffitffq 6{ erap6-{ c<trPlC{qTfut r

(f) What is categorical proposition? What are

the different types of categorical
proposition? Explain. I +4=5

fr+cm <q :FFF 6r@r? fr<z{lp qtr{ RGn
err{clRft ft, <rFm rFn I

4. Answer the following questions : l0x4=40
firfrfu crz<F<ts{ftfi:

{a,l Define syllogrsm with example. Exptain its
characteristics. 2+8= l0
snq<T{q rr.R cwt ftsr r an*rc hftAryc
<IF['T SII I

Or/4pql

What is immediate inference? Explain
obversion with rules as a kind of immediate
inference. 2+4+4=10
qfl{r{ qflFI FFF 6{llGt? Wttrfi{ q{TFK 9FFR

Rua{ff$mqefurq<lnn?r.tt I
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(b/ What is symbolic logic? Discuss the
characteristics of symbolic logic. 4+6=10
sfrrrss 6ften +rE 6<rrq? cqsrsr
6RsEr b<ft?ngqrcttr[Fil I

or/4R11

Discuss the relation between syrrbolic logic
and classical logic. lO
Eqrrq'? dRsR qr fi-rnnv R#Fgt+{
{s-{c*#ErfqlFltFt I

Icl Define proposition according to modern
logic. Erplain different types of compound
propositions with example. 2+8= l0
w$r 6Ruti wgR <w< qsr fr$r
cn<.rcq ff&a s|TlT{ dft+ <qcTc ('Fm
FIT I

or/4141

What is truth-function? What are the basic
truth-functio.ns? Explain each of them.

2+2+6=10
qS' TAH TFF 6I'(?I? CiFM Cg,T-q-{CT{ ft
ftr efuhcqnm?flFtrliFtr I

{d/ Construct truth table for any live of the
following propositional forms and
determine whether it is tautology,
contradictory or contingent: 2xS=lO
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s{s frfi <FTs{ qTllc{< '|1l R @E-{

{uin wi \orfrEt q'r{ Tl qr+ cftTc
N:+ol, F:ffqn 6{ qFffi wRfi?, fffi
TIT:

(i) p)(pvql
(ii) (p'ql=p

(iii) (p.ql.lpvql

(iv) lpvql'l-p'-el
(v) -lp)lpvqll
(i) p.l-pvcl

Or/4tV1l

What is indirect or shorter-truth table

method? Discuss the method of proving

validity or invalidity of argument by

shorter-truth table method. 10

'f6tFF 
:tt u1 lw-vtfto

rcl-srft+t "me q{Ig {b< t<cst { Et<$or
sTrT{ o|EBdtarHn€t I

***
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